Informational Report for the March 15, 2011, Board of Trustees Meeting

Short-Term Appointments

Last Name	First Name	MI	Site	New Emp to District	Position Title	Pango	Ston	Salary	Division	Max Hours	Assign Beg. Date	_
Last Name	First Name	IVII	Site	DISTILL	Position Title	Range	Siep	Salaiy	DIVISION	Wax Hours	beg. Date	Ellu Dale
Chabot Col	lege											
Arasala	Zohra	nmi	Chabot	No	Early Childhood Assistant	15	1	\$13.53	Children's Center	18/wk	2/14/2011	6/30/2011
Duenas	Beatriz	nmi	Chabot	No	Early Childhood Assistant	15	1	\$13.53	Children's Center	18/wk	2/14/2011	6/30/2011
									Institutional Research			
Ens	Nicholas	J.	Chabot		Research Analyst	45	1	\$28.49	and Grants	40/wk	2/10/2011	5/27/2011
									Admissions and			
Frank	Miguel	A.	Chabot	No	Veterans Benefits Specialist	35	1	\$22.24	Records	24/wk	1/4/2011	6/30/2011
Robinson	Mark	W.	Chabot	Yes	Instuctional Assistant I	25	1	\$17.39	Health, Physical Education, and Athletics	140/max	1/18/2011	5/31/2011
Tutakhil	Rosalba	nmi	Chabot	No	Early Childhood Assistant	15	1	\$13.53	·	18/wk		6/30/2011
Las Positas	College											
Morrell	Cheri	L.	Las Positas	No	Instructional Assistant I	25	1	\$17.39	Student Services	22/wk	1/18/2011	6/30/2011
Rogers	Denise	T.	Las Positas	No	Administrative Assistant II	34	1	\$21.69	Health Sciences	20/wk	1/31/2011	6/30/2011
District Ser	vices											
Gardner	William	R.	District	No	Grounds Supervisor	S230	1	\$30.69	Maintenance and Operations		1/3/2011	3/31/2011

Informational Report for the March 15, 2011, Board of Trustees Meeting

Part-Time (Adjunct) Faculty Appointments

				New			
	First			Emp to	Adjunct /		
Last Name	Name	MI	Site	District	Regular	Discipline	Term
Chabot College							
Bathelt	Markus	nmi	Chabot	No	Adjunct	Physical Education	Spring 2011
Jorgensen	Patricia	R.	Chabot	No	Adjunct	Mathematics	Spring 2011
Lazo-Fuentes	Nelda	E.	Chabot	Yes	Adjunct	Spanish	Spring 2011
Lewis	Daniel	nmi	Chabot	Yes	Adjunct	Dental Hygiene	2010-2011 Academic Year
Snider	Edward	L.	Chabot	Yes	Adjunct	Automotive Technology	Spring 2011
Tong	Susan	nmi	Chabot	No	Adjunct	PACE/Sociology	Spring 2011
Las Positas College							+
Ekeruo	Anthony	I.	Las Positas	No	Adjunct	Psychology	Spring 2011
Nelson	Tu	M.	Las Positas	Yes	Adjunct	Administration of Justice Academy	Spring 2011
Tucker	Ray	B.	Las Positas	No	Adjunct	Administration of Justice Academy	Spring 2011

Informational Report for the March 15, 2011, Board of Trustees Meeting

Professional Expert Appointments

				New			_					
Last Name	First Name	мі	Site	Emp to District	Duties	Department	Pay Type	Pay Rate	Max. Hours	Maximum Amount	Assign Beg. Date	Assign End Date
Chabot Colle			C-100	Diotriot	Dunos	Dopartinont	11900	r uy rtuto	Hours	7 uno anc	Bog. Bato	Liid Dato
					To provide assistance in guitar					Not to		
					classes for Community	Community				exceed		
Bartlett	Luveda	M.	Chabot	No	Education students	Education	Hourly	\$15.00	30/max	\$450.00	2/26/2011	6/30/2011
					To teach "Computer Basics					Not to		
					and Microsoft" classes to	Community				exceed		
Brichacek	Anne	Z.	Chabot	No	Community Education students	Education	Hourly	\$45.00	17/max	\$765.00	2/26/2011	6/30/2011
					,		,	<u> </u>		Not to		
					To teach guitar classes to	Community				exceed		
Brill	Bruce	nmi	Chabot	No	Community Education students	Education	Hourly	\$45.00	30/max	\$1,350.00	2/26/2011	6/30/2011
					To teach "Tae Kwon Do"					Not to		
					classes to Community	Community				exceed		
DeGuzman	Rudolfo	S.	Chabot	No	Education students	Education	Hourly	\$25.00	17/max	\$425.00	1/18/2011	6/30/2011
					To teach "Salsa and Ballroom"					Not to		
					classes to Community	Community				exceed		
DeLeon	Emerlita	A.	Chabot	No	Education students	Education	Hourly	\$35.00	16/max	\$560.00	2/26/2011	6/30/2011
					To teach"Instant Piano" classes					Not to		
					to Community Education	Community	Per		34	exceed		
Faust	Carol	C.	Chabot	No	students	Education	Student	\$20.00	students	\$680.00	2/12/2011	6/30/2011
					To teach "Cake Decorating"					Not to		
					classes to Community	Community				exceed		
Groff	Mary	L.	Chabot	No	Education students	Education	Hourly	\$30.00	64/max	\$1920.00	2/28/2011	6/30/2011
										Not to		
l		_			To teach "Painting" classes to	Community		*	40/	exceed	0/40/00::	0/00/00:
Hsu	Alice	F.	Chabot	No	Community Education students	Education	Hourly	\$35.00	10/max	\$350.00	2/16/2011	6/30/2011

Informational Report for the March 15, 2011, Board of Trustees Meeting

Professional Expert Appointments

	First			New Emp to			Pov		Max.	Maximum	Assign	Assign
Last Name	Name	МІ	Site	District	Duties	Department	Pay Type	Pay Rate	Hours	Amount	Assign Beg. Date	End Date
Lust Hume	Itairic	1000	One	District	Duties	Department	Type	1 dy Rate	Hours	Amount	Deg. Date	Liid Date
					To teach "Media and					Not to		
					Technology" classes to	Community				exceed		
Pounds	Cederic	nmi	Chabot	No	Community Education students	Education	Hourly	\$45.00	7/max	\$315.00	2/26/2011	6/30/2011
					To teach "Healthy Cooking"			·		Not to		
					classes to Community	Community	Per		60	exceed		
Sammons	Amber	R.	Chabot	No	Education students	Education	Student	\$15.60	students	\$936.00	2/22/2011	6/30/2011
					To teach "Mandarin Chinese"					Not to		
					to Community Education	Community				exceed		
Yan	Debbie	nmi	Chabot	No	students	Education	Hourly	\$45.00	12/max	\$540.00	2/22/2011	6/30/2011
Las Positas (College C	omn	nuntiy Educat	tion								
					To teach "Mosaic/Art" classes							
					to Community Education	Community						
Beecher	Bryce	F.	Las Positas	No	students	Education	Hourly	\$30.00	200/max	\$6,000.00	1/20/2011	6/30/2011
					To teach "Making Wine Out of							
					Fruit" classes to Community	Community						
Wood, Sr.	Royce	A.	Las Positas	No	Education students	Education	Hourly	\$30.00	200/max	\$6,000.00	1/20/2011	6/30/2011
Las Positas (College											
					Provide sign language							
					interpreting for Student							
					Disabled Program and	Student						
Ferrell	Sarah	S.	Las Positas	No	Services	Services	Hourly	\$30.00	100/max	\$3,000.00	2/14/2011	6/30/2011

Informational Report for the March 15, 2011, Board of Trustees Meeting

Professional Expert Appointments

	First			New Emp to			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	MI	Site	District	Duties	Department	Туре	Pay Rate	Hours	Amount	Beg. Date	End Date
Hirashiki	Abby	K.	Las Positas	No	Provide assistance with the County's Workforce Investment Act case management including career counseling, eligibility paperwork, follow-up, and workshops	One Stop Career Center	Monthly	\$4,800.00	36/wk	\$19,200.00	3/1/2011	6/30/2011
Montalvo	Debra	J.	Las Positas	No	Provide assistance for the American Recovery and Reinvestment Act program and to manage the work retiree, Donna Impey used to oversee	Student Services	Hourly	\$28.90	40/wk	\$19,652.00	3/1/2011	6/30/2011